
https://www.pass4itsure.com/sg0-001.html
2024 Latest pass4itsure SG0-001 PDF and VCE dumps Download

 

 

 

SG0-001Q&As

CompTIA Storage+ Powered By SNIA Certification Exam

Pass CompTIA SG0-001 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/sg0-001.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by CompTIA
Official Exam Center

 

 

SG0-001 Practice Test | SG0-001 Exam Questions | SG0-001 Braindumps                                1 / 3

https://www.pass4itsure.com/sg0-001.html
https://www.pass4itsure.com/sg0-001.html
https://www.pass4itsure.com/sg0-001.html


https://www.pass4itsure.com/sg0-001.html
2024 Latest pass4itsure SG0-001 PDF and VCE dumps Download

QUESTION 1

Which of the following cable types has the HIGHEST possible throughput? 

A. Single-mode fiber 

B. CAT6 

C. CAT5 

D. TwinAX 

Correct Answer: A 

 

QUESTION 2

Which of the following are true when comparing iSCSI and CIFS protocols? (Select TWO). 

A. iSCSI was developed mainly for databases 

B. Server can be booted from iSCSI 

C. iSCSI is used in Fibre Channel 

D. CIFS is commonly used in UNIX 

E. Storage appears as a local disk using iSCSI 

Correct Answer: BE 

 

QUESTION 3

Network adapter teaming provides which of the following benefits? (Select TWO). 

A. Longer cable distance 

B. Decreases latency 

C. Lower CPU utilization 

D. Redundancy 

E. Higher throughput 

Correct Answer: DE 

 

QUESTION 4

Which of the following encryption methods is being described when a secure encrypted tunnel is created between a
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host and a storage device, but the data stored on disk is not encrypted? 

A. Data At-Rest Encryption 

B. Host Encryption 

C. Network Encryption 

D. Data In-Flight Encryption 

Correct Answer: D 

 

QUESTION 5

Which of the following would BEST ensure equal I/O distribution across all paths? 

A. Active passive 

B. Active active 

C. Most recently used 

D. Round robin 

Correct Answer: B 
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